
 
narjoMo Zmd … Zmo~ob gm¶Ýg Q>°b|Q> gM© narjm -2021 

Advance Level Exam (Group A : 5
th
 To 7

th
 Std.) 

{df¶  … gm¶Ýg, J{UV A°ÝS> OZab Zm°boO 
CËVaVm{bH$m  

àíZ H«$‘m§H$ CËVa àíZ H«$‘m§H$ CËVa àíZ H«$‘m§H$ CËVa 

1 1 26 3 51 4 

2 3 27 1 52 2 

3 1 28 1 53 3 

4 2 29 3 54 1 

5 2 30 2 55 4 

6 4 31 3 56 4 

7 3 32 2 57 4 

8 1 33 2 58 1 

9 3 34 2 59 2 

10 1 35 3 60 1 

11 3 36 4 61 2 

12 1 37 2 62 4 

13 3 38 2 63 2 

14 1 39 1 64 1 

15 2 40 3 65 1 

16 1 41 4 66 2 

17 3 42 3 67 3 

18 1 43 1 68 4 

19 1 44 3 69 3 

20 2 45 4 70 1 

21 2 46 4 71 1 

22 2 47 2 72 4 

23 4 48 2 73 4 

24 3 49 1 74 1 

25 1 50 2 75 4 
4 
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{dÚmWm©Mo Zmd …           dJ© …  

narjm H|$Ð  …  
 

àíZ 1) Imbrb {dYmZo dmMm d ¶mo½¶ n¶m©¶ {ZdS>m- 
A) ÜdZrÀ¶m àgmaUmgmR>r ‘mÜ¶‘mMr Amdí¶H$Vm AgVo 
~) àH$memÀ¶m àgmaUmgmR>r ‘mÜ¶‘mMr Amdí¶H$Vm ZgVo 
1) A, ~ XmoÝhr Iao  2) A, ~ XmoÝhr ImoQ>o 
3) A Iao ~ ImoQ>o   4) ~ Iao, A ImoQ>o 

  Read the following sentences carefully and find out proper  
  answer- 

A) Medium is necessary for propagation of sound 
B) Medium is not necessary for propagation of light 
1) A, B both right  2) A, B both wrong 
 3) A right, B wrong  4) B right, A wrong 

 

 

àíZ 2) EimXr dñVw Oa Vmer 60 {H$.‘r. ¶m doJmZo 2.5 Vmg àdmg H$aV   
  Agob Va Vr dñVw {H$Vr A§Va àdmg H$aob? 

1) 120 {H$.‘r   2) 145 {H$.‘r. 
3) 150 {H$.‘r.   4) 160 {H$.‘r. 
How much distance is travelled by an object if it travels at a 
constant speed of 60 km/h. for  2.5 hours? 
1) 120 Km.   2) 145 Km. 
3) 150 Km.   4) 160 Km. 

 

 

àíZ 3) Imbrbn¡H$s H$moUVm nXmW© {dX¶wV gwdmhH$ Amho? 
1) Mm§Xr    2) a~ar ~wM   
3) M§Xoar bonMo ßbmñQ>rH$  4) bmHw$S> 
 Which of the following is an electric conductior? 
1) Silver    2) Cork 
3) Silver colour plastic  4) Wood 

 

àíZ … 75 JwU … 75 doi … 1…30 Vmg 
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àíZ 4) Imbrbn¡H$s MwH$sMr OmoS>r {ZdS>m. 
  dmVmdaUmVrb Wa   A§Va 

A) Q´>m°nmopñ’$¶a   - 0 Vo 15 {H$.‘r. 
~) ñQ´>°Q>mopñ’$¶a  - 10�15 {H$.‘r. Vo 45�50 {H$.‘r. 
H$) ‘ogmo{’$¶a  - 50 Vo 180 {H$.‘r. 
1) ’$³V A 2) ’$³V H$ 3) ~ Am{U H  4) gd© ~amo~a 
 Find out wrong pair. 
Layers    Distance 
A) Troposphere  - 0 to 15 Km. 
B) Statosphere  - 10 – 15 Km. to 45 – 50 Km. 
C) Mesosphere  - 50 to 180 Km. 
1) Only A  2) Only C 3) B and C  4) All Correct 

 

 

àíZ 5) Imbrb A{^{H«$¶oVrb àíZ{MÝhmÀ¶m OmJr ¶mo½¶ n¶m©¶ {ZdS>m. 

  6 CO2 + 6H2O 
𝑠𝑢𝑛𝑙𝑖𝑔ℎ𝑡

𝑐ℎ𝑙𝑜𝑟𝑜𝑝ℎ𝑦𝑙𝑙
→ ? + 6H2O 

  1) C6H6O6 2) C6H12O6 3) C12H12O6  
 4) CO3 + O2 

 Find out correct option at the space of question mark in 
following reaction? 

6 CO2 + 6H2O 
𝑠𝑢𝑛𝑙𝑖𝑔ℎ𝑡

𝑐ℎ𝑙𝑜𝑟𝑜𝑝ℎ𝑦𝑙𝑙
→ ? + 6H2O 

 1) C6H6O6   2) C6H12O6 
  3) C12H12O6   4) CO3 + O2 

 

 

àíZ 6) H$~m}XHo$ Imbrbn¡H$s H$emZo ~Zbobo AgVmV? 
1) H$m~©Z + hm¶S´>moOZ 
2) Am°p³gOZ + H$m~©Z  
3) H$m~©Z + Zm¶Q´>moOZ + Am°p³gOZ 
4) H$m~©Z + hm¶S´>moOZ + Am°p³gOZ 
Carbohydrates are mainly made up of which of the following 
elements ? 
1) Carbon + Hydrogen 
2) Oxygen + Carbon 
3) Carbon + Nitrogen + Oxygen 
4) Carbon + Hydrogen + Oxygen. 

 

 

àíZ 7) Imbrbn¡H$s H$moUVr {nHo$ {h e|JdJu¶ AmhoV? 
1) Vm§Xþi, Jhþ, ‘H$m  2) Jhþ, Vm§Xþi, dQ>mUo 
3) dQ>mUo, gmo¶m~rZ, ‘H$m  4) dQ>mUo, gmo¶m~rZ, ha^am 
Which of the following options contains leguminous crops 
only? 
 1) Rice, Wheat, Maize  2) Wheat, Rice, Peas 
 3) Peas, Beans, Maize  4) Peas, Beans, Gram 
 

 
 
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àíZ 8) nmZmMo ‘w»¶ H$m¶© H$moUVo? 

1) AÞ V¶ma H$aUo  2) PmS>mbm AmYma XoUo 
3) nmUr emofwZ KoUo  4) ¶mn¡H$s Zmhr 
The main fuction of leaf is 
1) To prepare food 2) To support the plant 
 3) To absorb water 4) None of these 
 

 

 
àíZ 9) Imbrb {MÌmMo {ZarjU H$am, Am{U Ë¶m~XX²b MwH$sMo {dYmZ {ZdS>m 

   
1) Vo H$dH$ Amho    
2) Vo ‘¥V gOrdm§da dmT>Vo 
3) Vo ñdV…Mo AÞ ñdV… V¶ma H$aVo 
4) ¶mVrb H$mhr àH$ma ImX²¶nXmW© AmhoV. 
Refer the given picture, select an incorrect statement 
regarding organism shown in it. 
1) It is a fungus 
2) It feeds on dead organic matter 
3) It can synthesize its own food 
4) Some of the varieties are eadible. 
 

 

 
àíZ 10) gmo~V {Xboë¶m AmH$¥Vr‘Yrb àíZm§{H$V Ad¶dmMo Zmd gm§Jm. 
 
  

1) {nËVme¶ 
2) JwXme¶ 
3) ñdmXþqnS> 
4) AÞZ{bH$m 
Find out question marked organ in 
diagram. 

1)  Gall bladder 

2)  Rectum 

3)  Pancreas 

4)  Oesophagus  
 

  

 
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àíZ 11) ^maVmMr n{hbr AUw^Q²>Q>r H$moUVr? 

1) P{b©Zm  2) gm¶ag 3) Aßgam 4) H°$ZSy> 
Which is the first Atomic reacter of India? 
1) Zerlina  2) Cirus 3) Apsara 4) CANADU 
 

 

 
àíZ 12) Imbrbn¡H$s H$moUmbm A½Ur~mUMr emñÌmMo OZH$ Ago åhUVmV? 

1) am°~Q>© JmoS>mS>©  2) Á¶wbr¶g grOa 
3) S>m°. E.nr.Oo H$bm‘ 4) ¶mn¡H$s Zmhr. 
Who is the father of Rocketry? 
1) Robert Godard 2) Julius Caesar 
 3) Dr. APJ. Kalam 4) None of these 
 

 

 
àíZ 13)  OJmVrb n{hbm ‘mZd{Z{‘©V CnJ«h Imbrbn¡H$s H$moUË¶m {R>H$mUmdê$Z àjo{nV 
  H$aÊ¶mV Ambm. 
  1) a{e¶m   2) ’«$mÝg  
  3) H$PmH$sñVmZ  4) A‘o[aH$m 
  First Artificial sattelite launched from which place? 
  1) Russia   2) France  
  3) Kazakistan  4) USA 
 

 

 
àíZ 14) n{hbo A§Vamidra H$moU AmhoV? 
  1) ¶war JmJmarZ  2) Ooåg A°S>agZ 
  3) gw{ZVm {dë¶åg  4) ¶mn¡H$s Zmhr 
  Who is the first astronaut? 
  1) Yuri Gagarin  2) James Anderson 
  3) Sunita Williams 4) None. 
 

 

 
àíZ 15) M§Ðmda nmR>dboë¶m n{hë¶m ¶mZmV Imbrbn¡H$s H$moUVo VrZ A§Vamidra hmoVo? 

1) ¶war JmJmarZ, Aë~Q>© E{bg, Bbm°Z ‘ñH$ 
2) Zrb Am‘©ñQ´>m°§J, ‘m¶Ho$b H$m°{bÝg, ES>drZ Am°ëS´>rZ 
3) Zrb Am‘©ñQ´>m±J, ¶war JmJmarZ, ìh°boÝQ>rZm VoaoñH$moìhm 
4) ìh°boÝQ>rZm VoaoñH$moìhm, ¶war JmJmarZ, A°ÝS¯> {dë¶‘g 
What is the name of first three astronauts sent to the moon? 
1) Yuri Gagarin, Albert Elis, Elon Musk 
2) Neil Armstrong, Michel Collins, Edwin Aldrin. 
3) Neil Armstrong, Yuri Gagarin, Valentina Tereskova 
4) Valentina Tereskova, Yuri Gagarin, Andrue Williams 
 
 

 
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àíZ 16) S>m°ŠQ>a gr ìhr a‘U ¶m§Zm Zmo~ob nwañH$ma H$moUË¶m dfu XoÊ¶mV Ambm ? 

1) 1930   2) 1932    
3) 1947   4) 1950 
In which year Dr. CV Raman was awarded the Nobel Prize? 
1) 1930   2) 1932   
 3) 1947   4) 1950 
 

 

 
àíZ 17) 2009 ‘Ü¶o Imbrb n¡H$s H$moUË¶m ^maV d§er¶ emókmbm agm¶Z emó  
  {df¶mMm Zmo~ob nwañH$ma XoÊ¶mV Ambm ?  
  1)gw~«‘Ê¶‘ M§ÐeoIa    2) H¡$bme gË¶mWu  
  3)ì¶§H$Q>a‘U am‘H¥$îUZ   4) {dÚmYa Zm¶nm°b 
  Which of the following Indian scientists was awarded  the  
  Nobel Prize in Chemistry in 2009? 
  1) Subramaniam Chandrasekhar  
  2) Kailash Satyarthi 
   3) Venkataraman Ramakrishnan  
  4) Vidyadhar Naipaul 
 

 

 
àíZ 18) n¥ÏdrMo gamgar Vmn‘mZ {H$Vr Amho ?  
  1) 14 {S>J«r gopëg¶g   2) 18 {S>J«r gopëg¶g   
  3) 42 {S>J«r gopëgAg   4) 52 {S>J«r gopëgAg 
  What is the average temperature of the earth? 
   1) 140 C   2) 180 C 3) 420 C  4) 520 C 
 

 

 
àíZ 19) n¥ÏdrMm ñdV…^modVr {’$aÊ¶mMm doJ à{VVmg {H$Vr {H$bmo‘rQ>a Amho?  
  1) 1610 {H$bmo‘rQ>a  2) 1730 {H$bmo‘rQ>a  
  3) 12300 {H$bmo‘rQ>a  4) 9200 {H$bmo‘rQ>a 
  How many kilometers per hour is the speed of the earth  
  revolving around itself? 
  1) 1610 kilometers  2) 1730 kilometers 
   3) 12300 kilometers 4) 9200 kilometers 
 

 

 
àíZ 20) 2006 ‘Ü¶o Imbrb n¡H$s H$moUË¶m J«hmMr ‘mÝ¶Vm Am§Vaamï´>r¶ IJmobr¶ g§KmZo 
  aÔ Ho$br Amho?  
  1) ZonÀ¶yZ   2) ßbwQ>mo    3) n¥Ïdr    4) M§Ð 
  Which of the following planets was de-recognized by  the  
  International Astronomical Union in 2006? 
  1) Neptune  2) Pluto  3) Earth  4) Moon 
 

 
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àíZ 21) 2020 ‘Ü¶o Imbrb n¡H$s H$moUË¶m ImOJr H§$nZrZo OJmVrb n{hbo AdH$me 
  CÈ>mU Ho$bo?  
  1) d{OªZ JbopŠQ>H$  2) ñnogoŠg  3) Zmgm  4) JmoS>mS>© ñnog g|Q>a 
  Which of the following private companies made the world's  
  first space flight in 2020? 
    1) Virgin Galactic  2) Spacex  
  3) NASA    4) Goddard Space Center 

 

 
àíZ 22) gÜ¶m BòmoMo AÜ¶j H$moU AmhoV ? 
  1) am‘H¥$îU Ho$ed‘  2) Ho$ {edZ 3) B© amYmH¥$îU 4) EZ ì¶§H$Q>amd 
  Who is the current President of ISRO? 
   1) Ramakrishna Keshavam  2) K. Shivan 
  3) E Radhakrishna   4) N Venkatrao 
 

 

 
àíZ 23) Mm§Ð¶mZ-2 Imbrbn¡H$s H$moUË¶m VmaIobm àjo{nV H$aÊ¶mV Ambo?  
  1) 4 Am°JñQ> 1993   2) 6 Am°ŠQ>mo~a 2019   
  3) 23 OmZodmar 2020   4) 22 Owb¡ 2019 
  Chandrayaan-2 was launched on which of the following  
  dates? 
  1) August 4, 1993  2) 6 October 2019 
  3) 23 January 2020  4) 22 July 2019 

 

 
àíZ 24) ^maVr¶ AdH$me H$m¶©H«$‘mMo OZH$ H$moU AmhoV?  
  1) S>m° hmo‘r ^m^m     2) S>m° EnrOo H$bm‘  
  3) S>m° {dH$‘ gmam^mB©   4) S>m° gVre YdZ 
  Who is the father of Indian leisure program? 
    1) Dr. Homi Bhabha 2) Dr. APJ Kalam 
  3) Dr. Vikram Sarabhai 4) Dr. Satish Dhawan 

 

 
àíZ 25) ^maVmV CnJ«hm§Mr ~m§YUr Imbrbn¡H$s H$moUË¶m {R>H$mUr Ho$br OmVo ? 
  In India, satellites are built in which of the following places? 
  1) ISRO satellite center Bengluru  
  2) ISRO space application center Ahemadabad 
  3) Vikram Sarabhai Space Center (VSSC) 
  4) Satish Dhawan Space Center (SDSC) SHAR 

 

 
àíZ 26) Imbrbn¡H$s H$moUVr amer g{Xe amer Zmhr  
  1) g§doJ   2) ËdaU  3) H$m¶© 4) {dñWmnZ 
  Which of the following is not a vector sign? 
  1) momentum  2) acceleration   
  3) Work   4) Displacement  
 

 
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àíZ 27) dmT>Ë¶m d¶mVrb ‘wbm§Zm {XdgmVyZ {H$Vr H°$bar D$Om© {‘im¶bm hdr? 
  1) XmoZ hOma Vo AS>rM hOma 2) AR>ameo Vo XmoZ hOma 
  3) n§Yameo Vo AR>ameo  4) AS>rM hOma Vo VrZ hOma 
  The number of required calories for adolcence is ….. 
  1) 2000 to 2500   2) 1800 to 2000 
  3) 1500 to 1800   4) 2500 to 3000 
 

 

 

àíZ 28) EH$ {H$bmo J«°‘ åhUOo {H$Vr Ý¶yQ>Z hmo¶?  
  1) 9.807 Ý¶yQ>Z  2) 11.08 Ý¶yQ>Z     
  3) 4.812 Ý¶yQ>Z   4) 0.930 Ý¶yQ>Z 
  How many Newtons is one kilogram? 
  1) 9.807 N  2) 11.08 N      3) 4.812 N  4) 0.930 N 
 

 

 

àíZ 29) OnmZ‘Yrb {hamo{e‘m ¶m ehamda OJmVrb n{hbm AUw~m°å~ H$moUË¶m VmaIobm 
  Q>mH$Ê¶mV Ambm ?  
  1) 20 Am°JñQ> 1930  2) 1 ‘o 1942  
  3) 6 Am°JñQ> 1945  4) 15 Am°³Q>mo~a 1914 
  On what date was the world's first atomic bomb dropped on 
  Hiroshima, Japan? 
  1) 20 August 1930 2) May 1, 1942 
  3) 6 August 1945 4) 15 October 1914 
 

 

 

àíZ 30) dñVw‘mZ Am{U doJ ¶m§À¶m JwUmH$mambm H$m¶ åhUVmV ?  
  1) à{V{H«$¶m ~b   2)g§doJ  3) ËdaU  4)CîUVm 
  What is the product of mass and velocity called? 
   1) reaction force  2) momentum  
  3) acceleration   4) heat 
 

 

 

àíZ 31) [H«$¶m ~b Am{U à{V{H«$¶m ~b ¶m§Mr n[a‘mUo g‘mZ AgVmV na§Vw {Xem {déÕ 
  AgVmV, ho {dYmZ Imbrbn¡H$s H$moUË¶m {Z¶‘mMo Amho?  
  1) Ý¶wQ>ZMm JVr{df¶H$ n{hbm {Z¶‘   
  2) Ý¶wQ>ZMm J{V{df¶H$ {Vgam {Z¶‘  
  3) D$Om© Ajæ¶VoMm {Z¶‘  
  4) g§doJ Ajæ¶VoMm {Z¶‘ 
  The dimensions of force of action and force of reaction are  
  same but opposite direction, which of the following rules is  
  the statement? 
  1) Newton's first law of motion 
  2) Newton's third law of motion 
  3) Law of energy sustainability 
  4) The law of momentum inertia 
 

 
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àíZ 32) nrìhrgr nmB©n ‘Ü¶o Imbrbn¡H$s H$moUVo EH$dmarH$ AgVo?  
  1) B{W{bZ  2) {dZrb ŠbmoamB©S>  3) H$sQ>moZ  4) ¶mn¡H$s Zmhr 
  Which of the following is a lump in a PVC pipe? 
   1) Ethylene  2) Vinyl Chloride  
  3) Ketone  4) None of these 
 

 

 

àíZ 33) ßbmpñQ>H$ CÚmoJ Imbrbn¡H$s H$moUË¶m amgm¶{ZH$ VËdmda MmbVmo?  
  1) Ho${‘H$b ~m°pÝS§>J 2) nm°{b‘am¶PoeZ  3) {H$ÊdZ   4) ¶mn¡H$s Zmhr 
  Plastic industry operates on which of the following chemical 
  principles? 
   1) Chemical bonding 2) Polymerization 
   3) Fermentation 4) None of these 
 

 

 

àíZ 34) [dÚwVeº$s ~m~V Imbrbn¡H$s ¶mo½¶ gyÌ H$moUVo?  

  1) {d^dm§Va × à^ma  2) {d^dm§Va × {dÚwV Ymam   
  3){d^dm§Va /H$m¶©   4) à^ma / Amoh‘ 
  Which of the following is the correct formula for electric  
  power? 
   1) Potential Defference × Charge 
   2) Potential Defference × electric current 
   3) Charge / Work 
   4) Charge / ohm 
 

 

 
àíZ 35) Imbrbn¡H$s H$moUË¶m AUyÀ¶m H|$ÐH$mV Ý¶yQ´>m°Z ZgVmo?  
  1)Zm¶Q´>moOZ   2)Am°pŠgOZ  3) hm¶S´>moOZ   4) ho{b¶‘   
  Which of the following atoms does not have a neutron in its 
  nucleus? 
   1) Nitrogen  2) Oxygen  3) Hydrogen 4) Helium 
 

 

 
àíZ 36) Imbrbn¡H$s MwH$sMo {dYmZ {ZdS>m  
  1) nmUr a§JhrZ d Mda{hV Ðd Amho  
  2) nmÊ¶mMr KZVm EH$ J«°‘ à{V KZ g|Q>r‘rQ>a BVH$s Amho  

  3) nmÊ¶mMo amgm¶{ZH$ gyÌ  H2O Amho  
  4) nmÊ¶mMm ÐdUm§H$ 100 {S>J«r gopëg¶g BVH$m Amho 
  Choose the wrong statement from the following 
   1) Water is a colorless and tasteless liquid 
   2) Density of water is one gram per cubic centimeter  
  3) Chemical formula of water is H2O 
  4) Water has a melting point of 100o C 
 

 
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àíZ 37) pãbqMJ nmdS>a Mo amgm¶{ZH$ Zmd Imbrbn¡H$s H$moUVo Amho?  
  1) H°$pëe¶‘ ŠbmoamB©S>    2) H°$pëe¶‘ hm¶S´>m°ŠgmBS>  
  3) H°$pëe¶‘ ŠbmoamBS>Am°pŠgŠbmoamB©Q>  4) H°$pëe¶‘ H$m~m}ZoQ> 
  Which of the following is the chemical name of  bleaching  
  powder? 
  1) Calcium chloride 
  2) Calcium hydroxide 
  3) Calcium chloride oxychlorite 
  4) Calcium carbonate 
  

 

 
àíZ 38) Imbrbn¡H$s gdm©V {ZH¥$ï> XOm©Mm H$moigm H$moUVm?  
  1) nrQ>  2) {b¾mBQ>  3) ~rQy>‘rZg   4) A±ZÌogmB©Q> 
  Which of the following is the lowest quality coal? 
  1) Peat  2) Lignite  3) Bituminous  4) Anthracite 
 

 

 
àíZ 39) Imbrbn¡H$s MwH$sMo {dYmZ {ZdS>m  
  A) JmOambm Jwbm~r a§J H°$amoQ>rZ ‘wio ¶oVmo  
  ~) JmB©À¶m XþYmbm {ndiga a§J H°$amoQ>rZ ‘wio ¶oVmo  
  1) ’$º$ A   2) ’$º$ ~   3) A, ~ XmoÝhr   4)XmoÝhr Zmhr 
  Choose the wrong statement from the following 
   A) Carrots are pink in color due to carotene 
   B) Yellow color of cow's milk is due to carotene 
   1) Only A   2) Only B  3) A, B both   4) Not both 
 

 

 
àíZ 40) Am§Vaamï´>r¶ ‘moO‘mn H$m¶m©b¶ Imbrbn¡H$s Hw$R>o Amho?  
  1) b§S>Z   2) {X„r  3) n°[ag  4) {gS>Zr 
  Where is the International Measurement Office located? 
   1) London  2) Delhi  3) Paris  4) Sydney 
 

 

 
àíZ 41) àH$me g§úbofU {H«$¶m KSy>Z ¶oÊ¶mgmR>r Imbrb n¡H$s H$moUË¶m KQ>H$m§Mm gh^mJ 
  Amdí¶H$ AgVmo?  
  1) àH$me   2) h[aVbdHo$ 
  3) H$m~©Z S>m¶-Am°³gmBS> 4) darb gd© 
  Which of the following factors plays vital role in   
  photosynthesis reaction? 
  1) Light   2) Green pigments 
  3) Carbon dioxide 4) All of the above 

 

 



P a g e  10 | 16 

 

 
àíZ 42) amîQ´>r¶ AmnËVr {ZdmaU d ì¶dñWmnZ àm{YH$aU ¶mMr ñWmnZm H$moUË¶m dfu 
  Pmbr? 
  1) 1993  2) 2002 3) 2005 4) 2009 
  The national disaster management authority was   
  established in which year? 
  1) 1993  2) 2002 3) 2005 4) 2009 
 

 

 
àíZ 43) nanmofr dZñnVt‘Ü¶o H$emMm A^md AgVmo? 
  1)h[aVbdHo$ 2) noetÐì¶ 3) àH$me 4) nmZo 
  Heterotropic plants lack……… 
  1) Green pigment  2) Cell membrane 
  3) Light    4) Leaves 
 

 

 
àíZ 44) AmH$memV CS>Umè¶m nV§JmMr JVr H$moUVr AgVo? 
  1) XmobZJVr  2) {Z¶VH$m{bH$ JVr  
  3) ¶mXpÀN>H$ JVr  4) n[adbZ JVr 
  What is the type of motion of flying kite in sky 
  1) Oscillatory motion 2) Periodic motion 
  3) Random motion 4) circular motion 
 

 

 
àíZ 45) Imbrbn¡H$s H$moUVr OrdZgËdo nmÊ¶mV {daKiV ZmhrV? 

A) OrdZgËd A  ~) OrdZgËd S> H$) OrdZgËd H$ 
  S>) OrdZgËd ~  B) OrdZgËd B  ’$) OrdZgËd Ho$ 
  1) A,H$,S>   2) A,~,B,’$   
  3) S>,B,’$   4) A,’$,B,Ho$ 
  Which of the following vitamins are not soluble in water? 
  A) Vitamin A  B) Vitamin D  C) Vitamin C 
  D) Vitamin B  E) Vitamin E  F) Vitamin K 
  1) Only A,C,D  2) Only A, B, E and F 
  3) Only D, E, F  4) Only A, D, E and K 
 

 

 
àíZ 46) EImÚm ì¶³Vrbm Oa öX¶{dH$mamMm PQ>H$m ¶oV Agob Va àW‘ CnMma åhUyZ 
  Ë¶m ì¶³Vrbm Imbrbn¡H$s H$moUVo Am¡fY Úmdo? 
  1) Paracetamol  2) Sorbitol  
  3) Norflox  4) ¶mn¡H$s Zmhr 
  If anyone is uffered from heart attack what will be the first  
  preventive medicine? 
  1) Paracetamol  2) Sorbitol  
  3) Norflox  4) None of the above 
 

 
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àíZ 47) Imbrbn¡H$s XmobZJVrMo CXmhaU H$moUVo? 
  1) KS>çmi  2) Pmonmim 3) n§Im 4) gm¶H$b 
  Which of the following is the example of Oscilatory motion? 
  1) Watch  2) Swing 3) Fan  4) Bicycle 
 

 

 
àíZ 48) EImÚm ñWm¶y nXmWm©bm CîUVm {Xbr AgVm Ë¶mMo ÐdmV ê$nm§Va Z hmoVm gai 
  dm¶w‘Ü¶o ê$nm§Va hmoÊ¶mÀ¶m {H«$¶obm H$m¶ åhUVmV? 
  1) g§KZZ  2) g§ßbdZ 3) dm¶yH$aU 4) erVH$aU 
  If we provide heat to any solid substance without convert into 
  liquid and dirctly transferred to gas phase such process is  
  known as ………… 
  1) Condensation 2) Sublimation 
  3) Gasification  4) Cooling 

 

 

 
àíZ 49) EImÚm dñVy‘Ü¶o H§$nZ {Z‘m©U Pmë¶mZ§Va ........ Mr {Z{‘©Vr hmoVo. 
  1) ÜdZr  2) CîUVm 3) Xm~  4) ¶mn¡H$s Zmhr 
  The vibration of an object is necessary for production  of ……. 
  1) Sound    2) Heat   3) Pressure  4) None of the above 
 

 

 
àíZ 50) gm¡aKQ>, gm¡a{Xdo hr H$moUË¶m D$O}Mr Cn¶moJmMr CXmhaUo AmhoV? 
  1) CîUVm D$Om©  2) àH$me D$Om©   
  3) amgm¶{ZH$ D$Om©  4) bmQ>m§nmgyZ {Z‘m©U hmoUmar D$Om© 
  Solar cell, solar lamps are the applications of the …… Energy of 
  sun? 
  1) Heat energy  2) Light energy 
  3) Chemical energy 4) Tidal energy 
 

 

 
àíZ 51) Imbrb nÅ>rMm N>m¶m§{H$V ^mJ H$m¶ Xe©dVmo? 
  What does the shaded part of the following strip represent? 

   

   
 

 
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àíZ 52) 
3

4
, 

7

6
 आणि 1

3

5
 ची बेरीज णिती आह?े 

  What is the sum of 
3

4
,

7

6
  and 1

3

5
 ? 

   
 

 

 

àíZ 53) M =
2x+5

7
 Am{U N =

3x−2

4
. Oa M = N Agob Va 𝑥 Mr {H$‘V  

  H$m¶?. 

   
 

 

 

àíZ 54) dS>rb Amnë¶m ‘wbmnojm 26 dfmªZr ‘moR>o AmhoV. 3 dfmªZ§Va ‘wbmMo d¶  
  Ë¶mÀ¶m d{S>bm§À¶m d¶mÀ¶m EH$ V¥Vr¶m§e Agob Va ‘wbmMo AmOMo d¶ {H$Vr 
  Amho? 
  1) 10 df©  2) 13 df© 3) 39 df© 4) 29 df© 
  A father is 26 years older than his son. In 3 years' time, the  
  son's age will be onethird his father's age. What is the present 
  age of the son?  
  1) 10 years   2) 13 years  
  3) 39 years   4) 29 years 
 

 

 

àíZ 55) Oa 
3p+2

5
−

4p−3

7
+

p−1

35
= 4, Va p Mo qH$‘V emoYm. 

   
  1) 65 2) 63  3) 36  4) 56 
 

 

 

àíZ 56) ‘wë¶‘mnZ H$aUo. 

   

 



P a g e  13 | 16 

 

 

àíZ 57) {Xboë¶m AmH$¥Vr‘Ü¶o 𝑥 H$moZ emoYm, Oa AB ∥  CD 

  Find the angle x in the given figure, if AB II CD. 

   
  1) 75°  2) 55°  3) 160°  4) 145° 

 

 

 
àíZ 58) PQR hr gai aofm Amho 
  PQR is a straight line. 

   

  Va x Mr ‘wë¶ {H$Vr? 
  What is the value of x? 
  1) 20°  2) 25°  3) 15°  4) 30° 
 

 

 

àíZ 59) AmH$¥Vr‘Yrb AkmV H$moZ x emoYm. 
  Find the unknown angle x in the figure. 

   
  1) 45°  2) 125°  3) 90°  4) 80° 
 

 

 

àíZ 60) {ÌH$moUmVrb XmoZ H$moZ 65°o Am{U 85° Agë¶mg, {Vgè¶m H$moZmMo ‘mn  
  {H$Vr? 
  If two angles in a triangle are 65° and 85°, what is the  third  
  angle? 
  1) 30°  2) 45°  3) 60°  4) 90° 
 

 

 
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àíZ 61) Oa {ÌH$moUmMo H$moZ 1 : 2: 7 JwUmoÎmamV AgVrb Va Vmo H$moUË¶m àH$maMm  
  {ÌH$moU Amho? 

1) bKwH$moZ Agbobm [ÌH$moZ 
2) {demb H$moZ Agbobm {ÌH$moZ 
3) H$mQ>H$moZ [ÌH$moZ 
4) H$mQ>H$moZ g‘pìX^wO [ÌH$moZ 

  If the angles of a triangle are in the ratio 1 : 2: 7, what type of 
  a triangle is it?  
  (A) An acute angled triangle.  
  (B) An obtuse angled triangle.  
  (C) A right angled triangle.  
  (D) A right angled isosceles triangle. 
 

 

 

àíZ 62) AmH¥$Vr q^Vrbm bQ>H$dboë¶m AmH$mamV Amho. Ë¶mMr n[a{‘Vr emoYm. 
  A wall hanging is in the shape given in the figure. Find its  
  perimeter.   

   
  1) 176 cm  2) 44 cm  3) 146 cm  4) 88 cm 
 

 

 

àíZ 63) {Xboë¶m AmH¥$VrVrb Mm¡H$moZ Am{U dVw©imÀ¶m n[a{‘Vr‘Yrb ’$aH$ emoYm. 
  Find the difference between the perimeters of the square and 
  circle in the figure given.    

   
  1) 57.2 cm  2) 72.8 cm  3) 15.6 cm    4) 52.7 cm 
 

 

 

àíZ 64) Oa x + y = 5, y + z = 7 Am{U z + x = 12 Agë¶mg, x + y + z Mr qH$‘V 
  {H$Vr Amho?             
  If x + y = 5, y + z = 7 and z + x = 12, what is the value of  
  x + y + z? 
  1) 12   2) 2   3) 5   4) 24 
 

 
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àíZ 65) 3a + 2b Am{U -2a- 5b ‘Yrb H$m¶ ’$aH$ Amho?   
  What is the difference between 3a + 2b and -2a- 5b? 
  1) 5a + 7b  3) -5a- 7b   
  2) 5a- 7b   4) a- 3b 

 

 

àíZ 66) (3°- 4°) x 52 Mo ‘yë¶ H$m¶ Amho? 

  What is the value of (3°- 4°) x 52? 
  1) 25  2) 0  3) – 25  4) 1 

 

 

àíZ 67) (
16

81
)

2
 Mo ‘yë¶ H$m¶ Amho? 

  What is the value of (
16

81
)

2
? 

  1) 
9

2
  2) 

2

9
  3) (

2

3
)

8
  4) 

27

8
 

 

 

 

àíZ 68) Imbrbn¡H$s H$moUVo Iao Amho? 
  Which of the following is true? 
  1) 10 X 1011 = 10011  2) 23 X 32 = 65  
  3) 23 > 32    4) p0 = 1000° 

 

 

àíZ 69) (12 x 3°-8 x 5°) Mo ‘yë¶ H$m¶ Amho? 
  What is the value of (12 x 3°-8 x 5°)? 

  1) 
1

2
  2) 2  3) 4   4) 

1

4
 

 

 

 

àíZ 70) gai ê$n Úm 

   

 

 

àíZ 71) x Mo ‘yë¶ emoYm? 

   
 

 
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àíZ 72) AnyUmªH$m§Mm H$moUVm g§M AnyUmªH$m§gmaIm Amho? 
  Which set of fractions is a like fractions? 

  1) 
1

11
,

11

12
,

12

11
 2) 

1

3
,

1

4
,

1

5
 3) 

8

3
,

9

4
,

10

5
 4) 

3

8
,

2

8
,

15

8
 

 

 

 

àíZ 73) Imbrbn¡H$s gdm©V ‘moR>m AnyUmªH$ H$moUVm? 
  The largest fraction from the following is 

  1) 
23

28
  2) 9

7

48
 3) 

9

4
  4) 13

12

14
 

 

 

 
àíZ 74) 2 ‘rQ>aMm H$moUVm A§e 50 go‘r Amho. 
  What fraction of 2 metres is 50 cm. 

  1) 
1

4
  2) 

4

25
  3) 

2

5
  4) 

1

5
 

 

 

 
àíZ 75) OmoS>¶m bmdm. 
  Match the following 
  List I    List- II 

  P) 2.220   1. 2 +
2

100
 

  Q) 2.022   2. 2 +
2

10
+

2

100
 

  R) 2.020   3. 20 +
2

10
+

2

1000
 

  S) 20.202   4. 2 +
2

100
+

2

1000
 

   P Q R S 
  1) 4 2 3 1 
  2) 4 2 1 3 
  3) 2 4 3 1 
  4) 2 4 1 3 
 

 

 

  

 

 

 

 

 


